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F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 1 Z IMME R W A
PARKETT B12

10.00 13.12

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 2 Z IMME R W A
PARKETT B12

12.16 13.96

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 3 B A D W A
FLIESE B11

4.40 8.80

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 4 W C W A
FLIESE B11

1.37 4.74

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 5 G A N G W A
PARKETT B12

3.24 7.32

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 6 W OHNK Ü C H EW A
PARKETT B12

39.92 30.02

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 7 G A N G W A
PARKETT B12

4.93 9.96

+15.69 --

+15.89 +17.99

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 8 G A N G W A
PARKETT B10

16.63 23.46

+15.69 --

+15.89 +17.99

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 0 9 W C W A
FLIESE B11

1.86 5.72

+15.69 --

+15.89 +17.99

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 0 G A N G W A
PARKETT B12

4.28 8.30

+15.69 --

+15.89 +17.99

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 1 B A D W A
FLIESE B11

3.85 7.94

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 2 Z IMME R W A
PARKETT B12

10.10 13.04

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 3 W OHNK Ü C H EW A
PARKETT B12

27.68 23.50

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 4 Z IMME R W A
PARKETT B12

16.29 17.10

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 5 Z IMME R W A
PARKETT B12

10.00 12.40

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 6 W OHNK Ü C H EW A
PARKETT B12

26.43 22.00

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 7 G A N G W A
PARKETT B12

8.49 15.15

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 8 W C W A
FLIESE B11

12.40 4.48

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 1 9 B A D W A
FLIESE B11

4.76 9.14

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 0 G A N G W A
PARKETT B12

5.08 9.79

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 1 W OHNK Ü C H EW A
PARKETT B12

35.02 36.70

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 2 W C W A
FLIESE B11

1.10 4.25

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 3 B A D W A
FLIESE B11

4.39 8.56

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 4 Z IMME R W A
PARKETT B12

10.83 13.10

+15.69 +18.40

+15.89 +18.39

F = U = m

RDOK= RDUK=

FFOK= DUK=

m²

0 4 2 5 Z IMME R W A
PARKETT B12

10.44 13.10

+15.69 +18.40

+15.89 +18.39
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A R ø100

L Ü

L Ü

L Ü

A R ø100

L ÜL Ü
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